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Question 1 (25 marks)
(i) An organisation must identify the sources of its operational risk exposures to be able to
manage them. Explain the sources of operational risk exposures. (9 marks)

(i) Japan Motor Ltd has identified 1 people, I technology, 1 external dependency, and 1 process
risks exposures with a 35%, 25%, 30%, and 10% probability of occurrence respectively. The
impact of the risk exposures are $20,000, $25,000, $3,000, and $22,000 respectively should they
occur. The technology and external dependency risks are positive risks, whereas the people and
process risks are negative risks. Calculate the expected monetary value required to manage all
the identified risk exposures. (12 marks) )

(iif) Discuss why the total impact may be greater than the EMV. (4 marks)

Question 2 (25 marks)
Interest rate options are used to hedge against different reference interest rates or prices of
underlying assets. Discuss interest rate cap and floor options as hedging strategy against interest
rate risk exposures. (12 marks)

(ii) Nestle Foods PLC borrows by rolling over short-term debt every quarter. Concerned about
rising rates, the company buys an interest rate cap to cover its $30 million floating rate debt. The
cap strike rate is 5.00 percent, the reset period is quarterly, and the reference rate is the London
Interbank Offered Rate (LIBOR). At the first rollover and cap date, the LIBOR is 4.15 percent,
and at the second rollover and cap date, the LIBOR increased to 5.75 percent. Calculate the
settlement amounts for the two rollover and cap dates, and advise Nestle Foods PLC. (13 ‘marks)

Question 3 (25 marks) = - -
" (i)What do you understand by credit risk? Outline any seven credit events (or credit risk triggers)

known to you. (13 marks) ‘
(i) Discuss the CAMPARI model as one of the judgemental templates for assessing credit risk.

(12 marks)

Question 4 (25 marks)
(1) Write short notes on any three of the following risk exposure measurement techniques:
I.  Scenario analysis
II.  Standard deviation
[II.  Regression analysis
IV.  Value at risk (VaR). (15 marks)

(i) Define risk management and highlight the factors that can result in risk management failure.
(10 marks)
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